/*
* MCR Gate System ¥ U 7 V{5
* Processing fll % v 7' v
* BHFEBRIE Ver3.3
*/

/] YV TAITATITYERY ANS

import processing.serial.*;

// myPort ((TE%) tWwHr4 v Az v A2 HE

Serial myPort;

intx; //BEO X EEEOER % &

int NUM =6; //® v ¥+ — Dk

int[] receivedData = new int[NUM]; [/ v ¥ — Dl % K& 3 5 ELSI
int secondlentM = 0; // OUT 2 — X%y

int secondlentS = 0; // OUT 22— X%

int secondITIME = 0; // OUT 2 — &:& v 5

intinTime m=0; //IN 22— X:4>

intinTime s=0; //IN = — x:#

intinTime ¢=0; //IN a2—Xx:%vF#%

[H================== IHIRE ==================*/
void setup(){

// WY A X

size(1080, 780); // 1024 x 768 72 L TN %

textFont(createFont("x", 15)); // HAEZEXRH, X—Ya v 7 v 7 TAE?
//frameRate(10); // 1 #Hic 10 | draw(OEFT (B9 235 Lz w0 TKT)

/] ) TAE—F DFE
// Arduino D I N T VWL VT AR —PICHhbETCHEHHZ 2
myPort = new Serial(this, "COM3", 250000);

void draw(){

/] ZAZ Ny 7 7 o b AR B KA
secondlcntM = receivedDatal[2];
secondlcntS = receivedData[3];
secondITIME = receivedData[0];

inTime _m = receivedData[4];



inTime_s = receivedData[5];

inTime ¢ = receivedData[1];

/] ey FRHoONTANToT— 2% ERICES
String outTime = nf(secondlcntM, 2)+":"+nf(secondlcntS, 2)+":"+nf(secondITIME, 2);

String inTime = nf(inTime_m, 2)+":"+nf(inTime_s, 2)+":"+nf(inTime_c, 2);

println(outTime); /] TNy ZRICH N
println(inTime); /] TNy FHRICH
background(255); /] BREZEEOHTEY D58F

//===0UT 2 — R & f LK R===

textSize(90); /] XFH A4 X

fill (0, 0, 255); // XFt:BLUE

text("OUT", 30, height*15/100); // R~ 3$ 5 7T % A b, x B, y JEE

textSize(220); /] XFH+ A X
fill(0, 0, 255); // XF:BLUE
text(outTime, 80, height*40/100);

//===IN 2 — 2 X f LK R===

textSize(90); /] XFH+ A X

fill(255, 0, 0); // XF:RED

text("IN", 30, height*65/100); // £RT %7 * & b, x JEIE, y HEiE

textSize(220):; /] XFH AR
fill(255, 0, 0); // XF:RED
text(inTime, 80, height*90/100);

void serialEvent(Serial p){
if (myPort.available() >=7){ // ~v & + K7 —% THEFHT7 54 b
if (myPort.read() =='H'){ // ~v A XF%RAOoF L i bamAN5
receivedData[0] = myPort.read(); // OUT: 43 Ht & A &
receivedData[1] = myPort.read(); // OUT: i & A &
receivedData[2] = myPort.read(); // OUT: & v F 5 A A
receivedData[3] = myPort.read(); // IN: 53 &t & 1A A
receivedData[4] = myPort.read(); // IN:#>#i & 1A &
receivedData[5] = myPort.read(); // IN: & v F ¥ &t & A A

/*int highl = myPort.read();



int lowl = myPort.read();
int high2 = myPort.read();
int low2 = myPort.read();
receivedData[0] = high1*256 + low1; // OUT: 4% #t # A &
receivedData[1] = high2*256 + low2; // OUT: )&t # A &
receivedData[2] = myPort.read();// OUT: k& v F#5 & 1A &
receivedData[3] = myPort.read(); // IN:5) %t & 1A &

[ .
[

receivedData[4] = myPort.read(); // IN:#> &t 4 1A &
receivedData[5] = myPort.read(); // IN: & v F ¥ & AIA A */



